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ROP (ReOrder Point) calculations are based on the assumption that the ordering should take place when the remaining quantity will last just until the order arrives.  That quantity, however, is an estimate, and so additional protection is planned in a safety stock quantity which considers normal variation of demand.

1)  Krill Office Supply  

Demand for scotch tape at Krill is distributed normally with a mean of 200 cases per week with a standard deviation of 30 cases per week.  Management requires a service level of 97.5% (Given that Z.975 = 1.96).  Reorder lead time is 2 weeks.  The reorder point is calculated as follows:

	1)   Calculate Demand x Lead Time (DLT):
	200 per wk. x 2 wks. =
	400 cases

	
	
	

	2)   Calculate the Safety Stock Quantity, SS:
	
	

	       a)   Find the square root of the lead time
	sqrt(2) = 1.41
	

	       b)   Multiply 2a) by the standard deviation
	1.41 x  30 = 42.43
	

	       c)   Multiply 2b) by Z
	42.43 x 1.96 = 83.156
	

	3)   Find the next highest integer for 2c)
	
	84 cases

	
	
	

	4)   Add the DLT and SS requirements
	
	484 cases


Answer:  
Krill should reorder scotch tape at 484 cases of scotch tape.



2)  Surfside Storage  

Demand for 3½" high density preformatted diskettes is distributed normally with a mean of 500 boxes per week with a standard deviation of 25 boxes per week.  Management requires a service level of 99% (Given that Z.99 = 2.325).  Reorder lead time is 1 week.  Calculate the reorder point for diskettes at Surfside Storage.

	1)   Calculate Demand x Lead Time (DLT):
	
	boxes

	
	
	

	2)   Calculate the Safety Stock Quantity, SS:
	
	

	       a)   Find the square root of the lead time
	
	

	       b)   Multiply 2a) by the standard deviation
	
	

	       c)   Multiply 2b) by Z
	
	

	3)   Find the next highest integer for 2c)
	
	boxes

	
	
	

	4)   Add the DLT and SS requirements
	
	boxes


Answer:  


3)  Outrigger Resort  

Demand for those little bars of soap at Outrigger is distributed normally with a mean of 950 bars per week with a standard deviation of 120 bars per week.  Management requires a service level of 99.5%  (Given that Z.995 = 2.575).  Reorder lead time is 3 weeks.  Calculate the reorder point for Outrigger.

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	


Answer:  
Outrigger should reorder at 3,386 bars.







Reorder point logic can also be applied internally to set target inventory levels or to determine schedule quantity and timing.  

Note that you are expected to express your answer in the correct UOM (unit of measure) to receive full credit.
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